PEEJAY SCHOOL ,PITAM PURA

ECONOMICS
CLASS XI

FIRST TERM
Time :3 hrs MM :80
Paper is divided into parts.
All questions are compulsory.
Marks are indicated against each question.

Part A

Quesl1 What does the category “Transient poor” consist of?(1)
Ques2 What is meant by structural composition of the economy?(1)
Ques 3 What was the main thrust of New Economic Policy 1991(3)
Ques 4 Do You think that taking monthly per capita expenditure as proxy for income of households is a
satisfactory mechanism to indentify the poor households in our country? Answer with proper reasons.
(3)
Ques 5 Explain how inward looking policy protected Indian domestic industry and its impact on
industrial growth?(3)
Ques 6 What were the main causes of India’s agricultural stagnation during the colonial period ?. (4)
Ques 7 what is green Revolution? Why was green revolution implemented and how did it benefit the
farmers? Explain in brief. (4)
Ques 8 what consideration led Indian Planners to accord high development priority to the public sector
until the nineteen nineties? Explain (4)
Ques 9 Write the components of Industrial Sector reforms and Trade and Investment reforms
undertaken in New Economic Reforms Policy.(6)
Ques 10 Explain the 3-dimensional attack on poverty adopted by the government. (6)

Part B
Ques 11 To get regular information about cricket test matches by a newspaper
agency . Which method of collection will you suggest to collect primary data . (1)
Ques 12 Name the method in which the investigator himself selects the samples which are the best
representatives (1)
Ques 13 Define multiple Bar diagram .(1)
Ques14 . “Statistical methods are dangerous tools in the hands of an unqualified
person “Explain. (3)
Ques 15 Differentiate between Discrete series and Continuous series and give hypothetical example of
each.(3)
Ques 16 Census method for collection of data can not be applied in all situations. Explain(3)
Ques 17 A class teacher had to select two representatives from the class for the school cabinet. She
followed lottery method to select two students from her class . Has the teacher done justice to the
selection process. Justify your answer with proper reason. (3)
Ques 18 Explain the method, of collection of Primary data ,Questionnaire through enumerator, with its
merits and demerits .(4)
Ques 19 Explain the plural definition of statistics with its each component.(4)
Ques 20 ‘Statistics is an indispensable tool for a proper understanding of various economic problems “.
Write the importance of statistics in Economic planning and in Business.(4)
Ques 21 Present the following information in suitable tabular form:
Total strength of students admitted in a senior secondary school in the year 2012 is 500 in the three
streams ,Arts ,Science and Commerce .There were 100 boys in Arts and 100 boys in Science, 120 girls in
Science and 80 boys in commerce .40 boys in Arts stream are from rural area ,30 girls of Science stream



are from urban area,35 girls in Commerce are from rural area and 25 girls from urban area . 30 boys in
Science and 20 boys in commerce are from rural area .10 girls in Arts are from urban areas. (4)
Ques22 Represent the following by sub-divided bar diagram on percentage basis;

Particulars 1990 (Rs) 1992(Rs)
Wages 120 210
Raw-Material 80 75
Other costs 40 75

Total cost 240 360
Proceeds from sale of table 250 300
Profit\ Loss 10 60

(4)

Ques 23 Draw less than curve for the following distribution

Weekly pocket money (in Rs) No.of
teenagers

20-39 9

40-59 11

60-79 15

80-99 25
100-119 10
120-139 8

(4marks)

Ques 24 We have the following data on the monthly expenditure on food (in Rs.) for 30 households in a

locality:
215 159 196 205 112 223
256 271 310 129 335 169
184 234 245 241 265 298
144 135 172 173 229 243
220 238 278 243 220 238

I.  Obtain frequency distribution, inclusive series of the given data .The class —intervals is to be
taken as 50, one of the class interval is 100 -150.
Il. Draw a frequency polygon
. What per cent of the households spend less than Rs. 250 per month and what percent
spend more than Rs. 200 per month? (6marks)



